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Time vs Sample Size
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Time vs Dimension



100 200 300 400 500

2e
−

05
6e

−
05

1e
−

04

p =  5

n

t

●

●

● ●

●

cover−tree
kd−tree
VR

100 200 300 400 500
2e

−
05

6e
−

05
1e

−
04

p =  10

n

t

●

● ●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

2e
−

05
6e

−
05

1e
−

04

p =  20

n

t

●

●
●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

00
5

0.
00

01
5

p =  30

n

t

●

●
●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

00
5

0.
00

01
5

p =  40

n

t ●

●
●

●
●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

00
5

0.
00

01
5

p =  50

n

t

●

●
●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

01
0

0.
00

02
5

0.
00

04
0 p =  60

n

t

●

● ●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

01
0

0.
00

02
5

0.
00

04
0 p =  70

n

t

●

● ●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

01
0

0.
00

02
5

0.
00

04
0 p =  80

n

t

●

● ●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

01
0

0.
00

02
5

0.
00

04
0 p =  90

n

t

●

●
●

●

●

cover−tree
kd−tree
VR

100 200 300 400 500

0.
00

01
0

0.
00

02
5

0.
00

04
0 p =  100

n

t

●

●

●

●
●

cover−tree
kd−tree
VR

Time vs Sample Size for Small Size
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Time vs Dimension for Small Samples
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Time vs Dimension for Large Samples


